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— X X 1,000,000& x13] 1,000
= 500
Al 500
—2E=E #*¢ 60,000& x5& x4 3] 1,200
= 600
Al 600
301 Qg Al 2,000 1,000 1,000
= 1,000
Al 1,000
09 AIAHIEAZ 2,000 1,000 1,000
= 1,000
Al 1,000
= 0l & 2,000 1,000 1,000
= 1,000
Al 1,000
OAs (A=) SFASH BN A
0,000 x50 13| 2,000
= 1,000
Al 1,000
MPRsH(AsHE) & Asuns AH 54,000 24,000 30,000
2 27,000
Al 27,000
307 QIz2tol & 54,000 24,000 30,000
= 27,000
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M SAESED
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SNBSS (BH) - MEAY - B2 o @(ijf;ﬁ% HRE2
307 QIz2tol & Al 27,000
02 QI2tFAAIHE X 54,000 24,000 30,000
= 27,000
Al 27,000
= 0l & 54,000 24,000 30,000
= 27,000
Al 27,000
OH=0 8Dt & Zal mE=3
1,200,000& *9JH A x5J1 & 54,000
= 27,000
Al 27,000
HsHE &3 2IXA 31,000 10,000 21,000
= 3,000
Al 28,000
201 282 A Y| 28,000 7,000 21,000
== 2,100
Al 25,900
03 #AI2HH| 28,000 7,000 21,000
o= 2,100
Al 25,900
= 0l & 28,000 7,000 21,000
== 2,100
Al 25,900
OHMsHE BEg ZI} 7,000,000& x4 3] 28,000
== 2,100
Al 25,900
202 0| 2,040 2,040 0
== 612
Al 1,428
01 2L 2,040 2,040 0
& 612
Al 1,428
= 0l & 2,040 2,040 0
== 612
Al 1,428
OHsHE 8t&sg &I ol
68,000& x6H x5 2,040
= 612
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M SAESED
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Al 1,428
301 LEEAZF 960 960 0
= 288
Al 672
09 FAAHEAS 960 960 0
== 288
Al 672
= 0ff & 960 960 0
& 288
Al 672
OASHE as B4 2
60,000& x4 4 960
& 288
Al 672
Hsolol & 30,000 0 30,000
2 15,000
Al 15,000
402 QIZEXrE0l M 30,000 0 30,000
= 15,000
Al 15,000
02 QUAT2AILEZ(0IETHA) 30,000 0 30,000
= 15,000
Al 15,000
= 0l & 30,000 0 30,000
= 15,000
Al 15,000
OFs0le & X8 N
30,000,000 1 &~ 30,000
= 15,000
Al 15,000
FHE sgo ds33 NJAY 78,400 70,261 8,139
= 53,780
= 6,561
Al 18,059
201 LBt 5,500 5,500 0
= 2,750
Al 2,750
01 At 2eltl 5,500 5,500 0
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M SAESED
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl = 2,750
Al 2,750
= 0ff &F 5,500 5,500 0
= 2,750
Al 2,750
OFY =0 sz NIAMY Hatkt
dg 29| 5,500,000 *14] 5,500
= 2,750
Al 2,750
307  glztol A 72,900 64,761 8,139
= 51,030
= 6,561
Al 15,309
02 QUAHABLASEX 72,900 64,761 8,139
= 51,030
= 6,561
Al 15,309
= 0l & 72,900 64,761 8,139
= 51,030
& 6,561
Al 15,309
OFHW 520 AsHX XA
72,900,000 %14 72,900
= 51,030
& 6,561
Al 15,309
Y FAd=sE Z4dAd 25,000 0 25,000
= 7,500
Al 17,500
402 QI =0lM 25,000 0 25,000
= 7,500
Al 17,500
02 QAT 2AISEX(0IXMTHA) 25,000 0 25,000
= 7,500
Al 17,500
= 0l &F 25,000 0 25,000
= 7,500
Al 17,500
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2N SAERSD
HE: sEASH(SYHYLM/5Y - &)
ool AsAE EH (B9 @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
SEEEEEEETLE
25,000, 00024 *17H 25,000
= 7,500
Al 17,500
AsHE(HE) A N2 561,600 561,600
201 Yur2gyl 9,000 9,000
01 AtR2lY| 6,000 6,000
=0 & 6,000 6,000
Ol AsHE BEO AX2 X
1,000,000 22! 33| 6,000
03 A2 3,000 3,000
= 0l 4t 3,000 3,000
OOl HsHEQ SO HASZH X2
1,000,0008 *33] 3,000
301 YPBAD 232,600 232,600
09 BAIMHIEAT 12,600 12,600
=0 &t 12,600 2,600
OOl HsHEQ BEO HAAH X2
80,0002 x40 x33] 9,600
OFsHELZE &It ALY N
250,000 *42 +33] 3,000
12 JIEE AR 220,000 220,000
=0 &t 220,000 220,000
OAsQ =X YUE N
2,500,000 *60% 150,000
OF=AZQ OIAHIE X8
1,000,000 *507H 4 50,000
OFsQ 0|20 ZHSAL K&
1,000,000 207 £ 20,000
307 Q120 | 70,000 70,000
02 SINBMAYBE 70,000 70,000
= 0l &t 70,000 70,000
OF=FA&E 2&0l W] 17,500,0002 43 70,000
402 PIATROIA 250,000 250,000
01 QIERHZ AN R E (XHHITHR ) 250,000 250,000
=0l 4t 250,000 250,000
OFsHAEQ =8 2|22y X8
10,000, 0002 *207 £ *50% 100,000
O+ FU(Hs)s 2SUMIY 25
E! 0,000, 0002 *107H 2 *50% 100,000
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M SAESED
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
OA=se A8sIIH 7 XA
4,000,000& «25CH *50% 50,000
SN sERIX XA 120,000 0 120,000
= 60,000
= 12,000
Al 48,000
101 o144l 29,000 0 29,000
= 14,500
& 2,900
Al 11,600
04 JI2ZtHZZ2NSE=S 29,000 0 29,000
= 14,500
& 2,900
Al 11,600
=0 & 29,000 0 29,000
= 14,500
= 2,900
Al 11,600
OAsHE NIAHH MAGH A
2,000,000 1= 1204 & 24,000
= 12,000
= 2,400
Al 9,600
OA=sHE 2 D/B3 212l
5,000,000& x1H 5,000
= 2,500
& 500
Al 2,000
201 eI 27,000 0 27,000
= 13,500
& 2,700
Al 10,800
02 2244l 13,000 0 13,000
= 6,500
= 1,300
Al 5,200
= 0l & 13,000 0 13,000
= 6,500
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SH: SMESSD
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
& 1,300
Al 5,200
Ost=2HE2 AMEEH ||
13,000, 000& *1JH & 13,000
= 6,500
== 1,300
Al 5,200
03 AI2FH| 14,000 14,000
= 7,000
== 1,400
Al 5,600
= 0l & 14,000 14,000
= 7,000
== 1,400
Al 5,600
OHsHE 8eg &It 7,000,000& *23| 14,000
= 7,000
== 1,400
Al 5,600
206 M Z&H] 5,000 5,000
= 2,500
== 500
Al 2,000
01 &4l 5,000 5,000
= 2,500
== 500
Al 2,000
= 0l & 5,000 5,000
= 2,500
== 500
Al 2,000
OH=s2 HMEsd 28 MZ bl
5,000,000& x1JH 2~ 5,000
= 2,500
== 500
Al 2,000
301 oty Al 16,000 16,000
= 8,000

- 868 -




M SAESED
M SZONRA(STHLSA/5Y - 5E)
09 A=FAE XD CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
301 detEaz = 1,600
Al 6,400
09 AAHIEAZ 1,000 0 1,000
= 500
= 100
Al 400
= 0l &F 1,000 0 1,000
= 500
= 100
Al 400
OA=s2 HAHEEH S 20N B4
40,0003 #25H * 13| 1,000
=2 500
= 100
Al 400
12 JIEt2 &3 15,000 0 15,000
= 7,500
= 1,500
Al 6,000
= 0l & 15,000 0 15,000
= 7,500
= 1,500
Al 6,000
OA=sel HEHE L 022 ZEHHA
X & 15,000, 0003 *14] 15,000
= 7,500
& 1,500
Al 6,000
307  glztol & 23,000 0 23,000
= 11,500
= 2,300
Al 9,200
02 QIZHBAAMNIGEX 23,000 0 23,000
= 11,500
= 2,300
Al 9,200
= 0ff & 23,000 0 23,000
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SH: SMESSD
M SZONRA(STHLSA/5Y - 5E)
e AsHE FEXE (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
= 11,500
== 2,300
Al 9,200
OAsU2AH AtEHE 29 I
5,000,000& * 104 & 5,000
= 2,500
== 500
Al 2,000
OAsHE G235 = 18,000,000 14! 18,000
= 9,000
& 1,800
Al 7,200
402 QI2FXHE0|M 20,000 0 20,000
= 10,000
== 2,000
Al 8,000
02 QUIAT2AILEZ(0INMTHE) 20,000 0 20,000
= 10,000
c 2,000
Al 8,000
= Ol & 20,000 0 20,000
= 10,000
c 2,000
Al 8,000
OFs0l Feplode N8 ¥ BN
10,000, 000-& 44 2= x50% 20,000
= 10,000
= 2,000
Al 8,000
B sEXL(sHNY M/ s - =8) 3,399,002 1,834,094 1,564,908
= 188,380
== 380,610
Al 2,830,012
SEHMO & At 1,625,290 548,717 1,076,573
= 45,000
== 183,786
Al 1,396,504
SsEHLE0IE 4 5,600 5,600 0
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SN BAESED
M 2 AEERM(SRAS AN/ - SE)
col: mEgo 3 ara CERT
K- BSOS (3) - HEAY - BAS o ) DS
201 et 4 16,080 19,760 A 3,680
= 4,824
Al 11,256
01 At 2teltl 16,080 19,760 A 3,680
= 4,824
Al 11,256
= 0l &F 16,080 19,760 A 3,680
= 4,824
Al 11,256
NE2R== 60,0002 x268H 16,080
& 4,824
Al 11,256
d=g0 ststi 4 1,500 1,500 0
= 450
Al 1,050
301 LerEazg 1,500 1,500 0
& 450
Al 1,050
09 @AIAHIEAZ 1,500 1,500 0
= 450
Al 1,050
= Off & 1,500 1,500 0
= 450
Al 1,050
MENHE R StitSiHa 348 243
1,500, 000& * 13| 1,500
= 450
Al 1,050
HHOLH Y AlYH 50,000 0 50,000
= 25,000
Al 25,000
402 QIZ2EXrE0l M 50,000 0 50,000
= 25,000
Al 25,000
02 QIZT2ALEZ(0IETHEA) 50,000 0 50,000
= 25,000
Al 25,000
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SN SABRSD
B B|MSELM(SEHSLM/5Y - 5E)
ool sE40 B Ey CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 3,300 4,800 A1,500
OZY HBDT L AN 2
60,0002 5% * 124 +13] 3,300
401 ANEHLLHY 60,000 0 60,000
01 Al&HI 59,465 0 59,465
= 0fl &F 59,465 0 59,465
OSASESINBNAME AENA
59,465,000 *1JH 4 59,465
03 A&t 535 0 535
= 0 &t 535 0 535
OSASEENINAME ANENS AL
Ch 535,000 *14! 535
405 TeHH S 300,000 0 300,000
01 MMUSEHSY 300,000 0 300,000
=0 A 300,000 0 300,000
OsdSZsaNAME =Y 2
25,000,000 %125 300,000
S2lEU X2 0l(coty) 2 23,500 0 23,500
201 Yur2 Yl 23,500 0 23,500
02 ZZ2Y| 23,500 0 23,500
= 0 &t 23,500 0 23,500
OCCTV 8l&d AFB2 80,0002 *17CH 122 16,320
OCCTY ®I| AR 2 10,0002 *17CH * 122 2,040
OCCTV Al Z &l 8X 302, 3002 *17CH 5,140
ClEs0I0 #=H2H XA 862,560 272,000 590,560
= 172,512
Al 690,048
308 RXSHESOIH 862,560 272,000 590,560
& 172,512
Al 690,048
10 ZIIZSOTHEZE A= SIS A2 ] 862,560 272,000 590,560
= 172,512
Al 690,048
=0 & 862,560 272,000 590,560
< 172,512
Al 690,048
00450120l #=H2FH X2
200, 0002 %4, 792 *90% 862,560
= 172,512
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A o
(J1EH)

10,000

7,000

7,000

7,000

3,000

3,000

3,000

10,000

8,000

3 3r
< RO
= RO

Al

690,048

10,000

3,000
7,000
7,000

H

Al

2,100

H

Al

4,900

7,000

2,100

H

4,900

Al

7,000
2,100
4,900
3,000

WH

Al

900
2,100
4,000

H

Al

1,200

H

2,800

Al

3,000

900

H

Al

2,100

3,000

900

H

2,100
3,000

Al

900
2,100

H

Al

3,000

900
2,100

H

Al

10,000

3,000
7,000
8,000

H

Al

2,400

WH

Al

5,600

or
R
Y,

80
0B
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oll

201
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SH: SNESSD
M 2 AEERM(SRAS AN/ - SE)
col: mEgo 3 ara CERT
SNBSS (BH) - MEAY - B2 o @(ijf;ﬁ% HRE2
01 At 2t2ldl 8,000 8,000 0
== 2,400
Al 5,600
= 0l A 8,000 8,000 0
== 2,400
Al 5,600
OAEd=gol A5 s dASE
200,000& 31U & «103] 6,000
== 1,800
Al 4,200
OnM =20l oards SUSE A
250,000 *83] 2,000
== 600
Al 1,400
301 Qg A= 2,000 2,000 0
== 600
Al 1,400
09 SAIAHIEAZ 2,000 2,000 0
== 600
Al 1,400
= 0fl A 2,000 2,000 0
= 600
Al 1,400
OAHIXA SHZRRZE &5 WE
10,0003 x20H *103] 2,000
== 600
Al 1,400
SN2 IIBJls EE3 K& 40,000 0 40,000
= 20,000
Al 20,000
207  HAFOHEHI 40,000 0 40,000
= 20,000
Al 20,000
01 H43RE<H| 40,000 0 40,000
= 20,000
Al 20,000
= 0l & 40,000 0 40,000
= 20,000
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73,000

18,000

10,000
10,000

8,000

8,000

5,000

5,000

5,000

50,000

50,000
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=0 & 100,000 240,000 140,000
OSJIAYUAMSE FHl 7Y
25,000,000 *4CH 100,000
A =342l 8,840 8,840 0
201 Qw2 840 840 0
01 AtR 2| 840 840 0




SN
X ZH -
L=

el

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

SA B S (SH) - MEMY - BES =z T BlRE2
=0 A 840 840 0
Ozsl«2 222X B2ISE 7Y
210,0002 *22 x23| 840
206 W24l 8,000 8,000 0
01 MZHl 8,000 8,000 0
= 0f &t 8,000 8,000 0
OsJIH&sl4e 22 2 25,0008 <3200 8,000
S nes 6,000 5,160 840
201 Yer2gy 3,000 3,000 0
01 At=2eltl 3,000 3,000 0
= 0f &t 3,000 3,000 0
OSHHAH(SIIHE BI2AME ARS)s D
EP2 YL DM ME 45,0002 x55+83 1,800
OSHIAHSIIHE BI2AME ARS)S D
2YEE 7 200,0008! *3% x23| 1,200
202 ofHl 1,440 480 960
01 2ol 1,440 480 960
= 0f ot 1,440 480 960
OSJIHDE &40iH 60,0002+ *123] 1,440
301 UstRaz 1,560 1,680 A 120
09 SAAHIEAZ 1,560 1,680 A 120
=0 o 1,560 1,680 A 120
OS2 ATAR J2DE L HA BA
CIN 60,0002 *26% *13] 1,560
S| XA 500,000 460,000 40,000
=3 150,000
Al 350,000
402 QAT 0| H 500,000 460,000 40,000
= 150,000
Al 350,000
02 QIZTEAIALE(OIHNS) 500,000 460,000 40,000
= 150,000
Al 350,000
= 0f ot 500,000 460,000 40,000
= 150,000
Al 350,000
OUS™ 28502 7Y X
2,500,000 2! *400CH *50% 500,000
= 150,000
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SN

SANERS
M 2 AEERM(SRAS AN/ - SE)
e =xeiol I8 CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
| | Al 350,000
sIIH SstEX 22X 35,000 30,000 5,000
= 14,000
= 7,000
Al 14,000
402 QIZ2EX=0l M 35,000 30,000 5,000
= 14,000
= 7,000
Al 14,000
02 QUAT2AIEEZ(0IXTHA) 35,000 30,000 5,000
= 14,000
= 7,000
Al 14,000
= 0l & 35,000 30,000 5,000
= 14,000
& 7,000
Al 14,000
OsJIH s3t&EX 22 X3
100, 000& *350CH x 100% 35,000
= 14,000
= 7,000
Al 14,000
SIH otdu=s XA 10,000 10,000 0
= 5,000
Al 5,000
201  LBt249| 2,740 2,740 0
= 1,370
Al 1,370
01 At 2teltl 2,740 2,740 0
= 1,370
Al 1,370
= Ol & 2,740 2,740 0
= 1,370
Al 1,370
OsJIAMD YRS 2SS M
800& =1, 0500H 840
= 420
Al 420
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SN BAESED
M 2 AEERM(SRAS AN/ - SE)
e =xeiol I8 CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
OsJIH ¢&EE s 9,500& 2002 1,900
=2 950
Al 950
206 M=l 4,000 4,000 0
= 2,000
Al 2,000
01 M=zl 4,000 4,000 0
= 2,000
Al 2,000
= 0ff &F 4,000 4,000 0
= 2,000
Al 2,000
OsJIH &N s ASME 20,0002 x200H 4,000
= 2,000
Al 2,000
301 LerEAZ 3,260 3,260 0
= 1,630
Al 1,630
09 dAEHIEANZS 3,260 3,260 0
= 1,630
Al 1,630
= Ol &t 3,260 3,260 0
= 1,630
Al 1,630
Ozl sns 424
8,000 802 640
=2 320
Al 320
OsJH ¢dNs 884 8,000& x80H 640
=2 320
Al 320
OsJIHS &S 24 60,0003 *33H 1,980
= 990
Al 990
HEESEsIH FLRA 100,000 0 100,000
= 50,000
& 15,000
| Al 35,000
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SN BAESED
FH: B)|MsEXE(sHHS /5 - &)
el =& Pl IS (o2&
A EY - SA(B) - NS - B (X o) ) DS
405  AHaHFESHI 100,000 0 100,000
= 50,000
= 15,000
Al 35,000
01 XIS EHSHI 100,000 0 100,000
= 50,000
< 15,000
Al 35,000
= 0fl & 100,000 0 100,000
= 50,000
= 15,000
Al 35,000
Ou4d&stse sJIH & 5,000,000 «20CH 100,000
= 50,000
= 15,000
Al 35,000
=&y AESIAH N3 A 300,000 0 300,000
402 QIZ2ERrE0l M 300,000 0 300,000
01 22T 2 AP 2 (XEAITHA ) 300,000 0 300,000
= Off & 300,000 0 300,000
O=&g 28sJIH ¢ N&
3,000,000 *200CH x50% 300,000
HY2AHH (sEXJA W) (IEH/IIE) 143,415 174,789 AN31,374
ol 2 gl 51,907 50,416 1,491
ol A 51,907 50,416 1,491
101 o144l 51,907 50,416 1,491
01 2= 51,907 50,416 1,491
= Off & 51,907 50,416 1,491
OAlZte 222
10,299 14 x30A| 2t 128 51,907
Jl2Z3l 91,508 124,373 A 32,865
Jl2&l 91,508 124,373 A 32,865
201  LBt249H| 51,308 84,773 A 33,465
01 At 2eltl 26,044 30,949 A 4,905
= 0fl & 26,044 30,949 A 4,905
OMEEE 72 167,170& 17X 2,842
OZ2S+=&Hl 150, 000& *17H 2,550
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A SAERSH
Hz: HMSAHH| (s&X2 ) (IIEHIIE
Ce: I3l (chg:®
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
OEAMI EH, 28 2
100,000 *x2CH *12& 2,400
Osgd8EX 25 15,000& x50 &~ x12& 900
OZegle, A EH72E 180,000 *6CH *33] 3,240
O= A fXtE 275,000& «12& 3,300
O=ASA 7 22,000 82 A x12& 2,112
Oz s 55,000& «12& 660
Od=xI|l Xz 50,000& «12& 600
Ol 8,000& x15Y x5 x12& 7,200
OUSAYALE THBIALE ABE
20,000& x12& 240
02 =324dH| 25,264 53,824 N 28,560
= 0ff & 25,264 53,824 N 28,560
Osgusa M3 900,000& x12& 10,800
O XS XA 200,000& *2CH 400
OZINEEES 44 ,000& *5& *x23] 440
OXNsSXHEAE 26,000& =4 CH 104
OxsER2H 320,000& «12& 3,840
OX&EH & A2FHl  125,000& =20 =12& 3,000
Ot 22 (NS, AHAISH)
100, 000& *1JH A~ x12& 1,200
osudss 90,000 »12& 1,080
OQHUYAIZS (LS, AHAISE)
50,000 *2J0) A x12& 1,200
O2E2xH ¢ MYJIMHel(Bs2, A HAY
&) 100, 000& *x2JH A~ 200
OAEEH SA2A2(R2, dUHAILE)
1,000, 000& *304 &~ 3,000
202  0Odd| 36,000 36,000 0
01 2L b 36,000 36,000 0
= 0l & 36,000 36,000 0
OJl=2gRs SHWYI
20,000& 15«10 x12& 36,000
203 Y= 4,200 3,600 600
04 PASILRE=XH| 4,200 3,600 600
= 0ff & 4,200 3,600 600
ORNME2Y A28l 350,000& = 12& 4,200
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